Homework Set No. 4 NEEP 547
Due October 4, 2013 DLH

N4,

N5,

6.

=
[§

(,54pts) Use the Laplace transform to solve the following problem:
y" — 4y + 4y = t3e?* with initial conditions; y(0) = 0 and 3'(0) = 0.

(6'£)ts) Use the Laplace transform to solve the following problem:

' —4y' +3y=1-H(t—2)— H(t - 4) + H(t — 6), with initial conditions; y(0) = 0 and
!/

y'(0) =0.

(d6‘pts) Use the Laplace transform to solve the following problem:
y' —4y + 13y = 6(t — 7) + 6(¢ — 3) with initial conditions; y(0) = 1 and 3/(0) = 0.

(6pts) Solve the boundary valued problem using the Laplace Transform:

t—z = (t+3)

dy

o +4y=t—1 where: y(0) = y(1) = 0.

(7%‘53) Solve the following system of equations for the unknown functions, y(t) and 2(t):
3y +8y+224+52=¢t
Y +2+2=0
where the initial conditions are y(0) = 2 and z(0) = —2.

(8pts) page 148, prob. 12: Solve for the currents in the circuit of Figure 3.37, assuming that
the currents and charges are initially zero and that E(t)=2H(t—4)— H(t-5).

(8pts) page 149, prob. 15: Solve for the displacement functions in the system of Figure 3.38
if fi(t) =1—H(¢t—2) and f»(t) = 0. Assume zero initial displacements and velocities.
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